REVIEW: EQUATIONS OF LINEAR RELATIONS

1. A line has a slope of —-:l,; and a y-intercept of —2.

(a) Sketch a graph of the line.
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(b) Write the equation of the line
in slope-y-intercept form.

m=-% s b=-2

%5/

y-inbrpt

eiaar?lfm 07C o o /<

(¢) Now write the equation in
standard form.
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2. Given the following equations of linear relations, state the slope and y-intercept.
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3. Using the grid provided below, graph each of the relations in question 2.
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(Graph 2(e) using the intercepts method.)
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7 Ths maans that the
4. Hannah’s total pay includes a base salary and a percent of her sales. p@(m[;on miyst be Jin C;ltr“/

The following table shows her total pay for three different sales levels. °
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Determine Hannah's total pay when her sales are $47 @J
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Determine the slope of the line representing each relation.
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